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Do Now

How many atoms are there in 0.0383 g of potassium?

0.0383 g 1 mol 6.02 x 1023 atoms
=

5.89708 x 1020

atoms39.0983 g 1 mole

5.90 x 1020

atoms
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0406 – HW 

1) What is the mass of 6.02 x 1024 atoms of Bi?

2) How many moles in 1.25 x 103 g of Zn?

3) What is the mass of 3.54 x 102 mol of Co?

4) How many atoms in 4.56 x 103 g of Si? 

pg 331, #20a, pg 329, #18a, pg 328 #16a, pg 331, #21a

2.09 x 104 g Co

2.09 x 103 g Bi

9.77 x 1025 atoms of Si

1.91 x 101 mol Zn
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0406 - HW

5) How many atoms in 0.120 kg of Ti?

6) How many moles in 1.00 kg of Fe?

7) What is the mass of 2.45 x 10-2 mol of Zn?

8) What is the mass of 1.00 x 1024 atoms of Mn? 

pg 331, #21b, pg 329, #18b, pg 328 #16b, pg 331, #20b

1.60 g Zn

1.51 x 1024 atoms Ti

91.3 g Mn

1.79 x 101 mol Fe


